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TH - #Hithis #H 5% R R IX %
1 TH 1 &7 —H/NER —Hiih
1 TH 1% 105 — Hi/NERR —Hh
1 TH 1 &1 55 — Hi/NERR —Hh
1 TH 1% 195 —H/NERR —Hh
1 TH 2F 3 S —HTIUNER [T
1 TH 2&E1 35 —HATHINER [T
1 TH J&E8 —HilER [ CHTRE
1 TH 4351 = —H/NER —HhF
1 TH 41FE IS — Hii/ER —Ah
1 TH 4FEDH 5 — Hii/VERR —Ah
1 TH 4165 — Hii/VERR —Ah
1 TH 43T = —H/NER —HhhF
1 TH 4F 105 — Hi/NERR —Hh
1 TH 431 15 — B/ NER —Hh
1 TH b1 675 —H/NERR —Hh
1 TH b&E2 15 — B/ NER —Hh
1 TH b2 85 —H/NERR —Hh
1 TH b&HE2 95 —H/NERR —Hh
1 TH b&HEI 05 —H/NERR —Hh
1 TH b&EI 15 —H/NERR —Hh
1 TH b F 1 — A/ —HiiE
1 TH 6 # 3 — Hi/VFRR —HihREE
1 TH 6&FL LS —H/NER —HhF
1 TH 6F&1 7= —Hi/NERR —HhF
1 TH THL S —H/NER —HhF
1 TH 8#&F 1 =5 — A/ —HhF
1 TH 8% 35 — Hii/E —Ahh
1 TH 8&F 1 0+ —H/NERR —HhF
1 TH 8F& 2 0~ —H/NER —HhF
1 TH 8&E 2 45 — B/ NER —HhF
1 TH 1 0&F 8= —H/NER —HhF
1 TH 10&% 1 0% | —Hf/FEK —HhF
1 TH 10& 1 15 |[ZAFIER —HhF
1 TH 1 1% 15 —H/NER —Hh
1 TH 1 172 — H/NFRR —Hip¥
1 TH 1 1%&3 5 —H/NER —Hh
1 TH 1 1% 2% |[ZHH/WER —Hip¥
1 TH 1 1% 4% |[ZHfi/ER —Hip¥
1 TH 1 1&1 b5 |[CHH/NER —Hip¥
1 TH 1 1%&1 8% |[HH/NWFER —Hip¥
1 TH 1 1%&1 9% |[CHH/NWER —Hip¥
1 TH 1 1&?2 05 |[CHH/WER —Hip¥
1 TH 1 1%&?2 15 |[ZHH/WER —Hip¥
1 TH 1 1%&?2 35 |[CHH/WER —Hip¥
1 TH 1 13%&?2 4% | ZHii/WFER —Hip¥
1 TH 1 1&?2 55 |[CHH/NER —Hip¥
1 TH 1 1&?2 6% |[“HH/WER —Hip¥
1 TH 1 1%&?2 7% |[ZHH/FER —Hip¥
1 TH 1 1%&3 15 |[ZHf/WFER —HhhF
1 TH 1 2%3 —HATHINER [
1 TH 1 2%&8= —HATINER [T
1 TH 12%&1 0% |“HEHINER | HiEHR%E
1 TH 12%&1 15 |“HbHINER | SHiEHR%E
1 TH 1 2%&1 3% |“HhHINER | ZHiEHR%E
1 TH 1 2% 14 —HATHINER [
1 TH 1 2%&1 5% |“HHINER | “HiEH%E
1 TH 12%24 —HATHINER [T
1 TH 13%F 15 —HIEER | ahE
1 TH 1 3% 25 —HIEER | ahE
1 TH 13&3 = —HilER [ CHTRE
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— Hdk 1 TH 1 3&FLH= Bl s KR = FHHT
— Hdk 1 TH 1 3F 7= Bl s BN = FHHT
—Hiidk 1 TH 1 3%F8 5 FAE/ R AR = FHHT
—Hiidk 1 TH 13%F9 5 FAE/ R RN = FHHT
— Hdk 1 TH 13%F1 1% EEIMIE=E s R = FHHT
— Hdk 1 TH 13%1 3% EEIMIE=E s R = FHHT
— Hdk 1 TH 13%F1 6% EEIMIE=E s 5 = FHHT
— Hdk 1 TH 13%20% Bl s R = FHHT
—Hiidk 1 TH 13%F2 15 FAE/ N AR = FHHT
— Hdk 1 TH 13%22% Bl s 5 = FHHT
—Hiidk 1 TH 14% 15 FAE/ R AR = FHHT
— Hdk 1 TH 1 4% 2= FAE/ERR R = FHHT
— Hdk 1 TH 1 4F 35 Bl 5 = FHHT
—Hiidk 1 TH 1 4%5 5 FAE/ R AR = FHHT
—Hiidk 1 TH 1 4365 FAE/ R AR = FHHT
— Hdk 1 TH 14F1 15 Bl 5 = FHHT
— Hdk 1 TH 14%1 2% Bl R = FHHT
—Hiidk 1 TH 165%F 15 FAE/ R AR = FHHT
—Hiidk 1 TH 165%F2 %5 FAE/ R RN = FHHT
—Hiidk 1 TH 1 5%FbLH 5 FAE/ R AR = FHHT
— Hdk 1 TH 15%1 0% Bl R = FHHT
— Hdk 1 TH 15%1 2% Bl 5 = FHHT
— Hdk 1 TH 1 6%F 1= Bl BN = FHHT
—Hiidk 1 TH 1 6%&F3 5 FAE/ R AR = FHHT
—Hiidk 1 TH 1 6FbL 5 FAE/ R RN = FHHT
—Hiidk 1 TH 1 6365 FAE/ R AR = FHHT
—Hiidk 1 TH 1 6F&8 5 FAE/ R AR = FHHT
— Hdk 1 TH 16%F1 1% Bl hEi = FHHT
— Hdk 1 TH 16%F 1 2% Bl hER = FHHT
—Hiidk 1 TH 1 7% 25 FAE/ R AR = FHHT
—Hiidk 1 TH 1 7%&3 5 FAE/ R RN = FHHT
—Hiidk 1 TH 1 7%65 FAE/ R AR = FHHT
— Hdk 1 TH 1 7&F 7= FAE/ERR R = FHHT
— Hdk 1 TH 1 7% 2% Bl 5 = FHHT
— Hdk 1 TH 17%1 3% Bl R = FHHT
— Hdk 1 TH 1 7% 45 Bl R = FHHT
— Hdk 1 TH 1 8% 6 Bl 5 U

— Hdk 1 TH 18%2 3% Bl R = FHHT
—Hiidk 1 TH 1 8% 2 45 FAE/ N AR = FHHT
— Hdk 1 TH 1 8% 2 6% Bl 25 = FHHT
— Hdk 1 TH 18%2 8% Bl R = FHHT
— Hdk 1 TH 18%F3 0% Bl R = FHHT
—Hiidk 1 TH 19%F 15 FAE/ R RN = FHHT
— Hdk 1 TH 1 9&FL= Bl s BN = FHHT
— Hdk 1 TH 19%1 0% Bl R = FHHT
— Hdk 1 TH 19%F1 15 Bl 5 = FHHT
— Hdk 1 TH 19%1 2% Bl s R = FHHT
—Hiidk 1 TH 19%F 1 45 FAE/ N AR = FHHT
— Hdk 1 TH 19%F1 5% Bl s 5 = FHHT
—Hiidk 1 TH 2 07 1 FAE/ R AR = FHHT
—Hiidk 1 TH 2 0&FbL 5 FAE/ R AR = FHHT
—Hiidk 1 TH 20%F6 5 FAE/ R RN = FHHT
—Hiidk 1 TH 2 0& 85 FAE/ R AR = FHHT
— Hdk 1 TH 20&F1 0% Bl s hE = FHHT
— Hdk 1 TH 20&F1 15 Bl s 5 = FHHT
— Hdk 1 TH 20&F1 25 Bl s R = FHHT
— Hdk 1 TH 20&F1 3% Bl s R = FHHT
— Hdk 1 TH 20&F1 45 Bl s 5 = FHHT
— Hdk 1 TH 20&F1 6% Bl R = FHHT
— Hdk 1 TH 20&F1 75 FAE/ERR R = FHHT
— Hdk 1 TH 20%F1 8% Bl IR = FHHT




— Hdk 1 TH 20&F1 9% Bl s IR = FHHT
— Hdk 1 TH 20&F2 0% FAE/ERR R = FHHT
— Hdk 1 TH 20&F2 3% EEIMIE=E s R = FHHT
— Hdk 1 TH 20&F255 EEIMIE=E s 5 = FHHT
— Hdk 1 TH 20&F255 EEIMIE=E s R = FHHT
— Hdk 1 TH 20&F26% EEIMIE=E s R = FHHT
— Hdk 1 TH 20&F2 75 EEIMIE=E s 5 = FHHT
— Hdk 1 TH 20&F2 9% Bl s R = FHHT
—Hiidk 1 TH 2 1812 FAE/ R AR = FHHT
—Hiidk 1 TH 2 2% 25 FAE/ R RN = FHHT
—Hiidk 1 TH 2 2% 35 FAE/ R AR = FHHT
— Hdk 1 TH 22%F:LE Bl R = FHHT
— Hdk 1 TH 22FT S Bl 5 = FHHT
—Hiidk 1 TH 2 2F%E8 5 FAE/ R AR = FHHT
— Hdk 1 TH 22%F1 65 FAE/ERR R = FHHT
— Hdk 1 TH 22%F1 8% Bl 5 = FHHT
— Hdk 1 TH 22%F1 9% Bl R = FHHT
— Hdk 1 TH 22205 FAE/ERR R = FHHT
— Hdk 1 TH 22F2 15 Bl 5 = FHHT
— Hdk 1 TH 22FE2 25 Bl R = FHHT
— Hdk 1 TH 22FE23%5 FAE/ERR R = FHHT
— Hdk 1 TH 22FE 245 Bl 5 = FHHT
—Hdt 1 TH 22728 F bR 2R = FH T
—Hiidk 1 TH 22729 FAE/ NS AR = FHHT
—Hiidk 1 TH 23%F 15 FAE/ R RN = FHHT
—Hiidk 1 TH 23%3 5 FAE/ R AR = FHHT
—Hiidk 1 TH 23%FL 5 FAE/ R AR = FHHT
—Hiidk 1 TH 23%Fb65 FAE/ R RN = FHHT
—Hiidk 1 TH 2 3%F8 5 FAE/ R AR = FHHT
— Hdk 1 TH 23&F1 0% Bl hER = FHHT
— Hdk 1 TH 23&F13%5 Bl hEi = FHHT
— Hdk 1 TH 23&F1 65 Bl hER = FHHT
— Hdk 1 TH 23&F1 715 FAE/ERR R = FHHT
— Hdk 1 TH 23%&1 8% Bl 5 = FHHT
— Hdk 1 TH 23&F1 9% Bl R = FHHT
— Hdk 1 TH 23&F20% Bl R = FHHT
—Hiidk 1 TH 2 4% 35 FAE/ R RN = FHHT
—Hiidk 1 TH 2 4% 65 FAE/ R AR = FHHT
—Hiidk 1 TH 2A4FT S FAE/ N AR = FHHT
— Hdk 1 TH 24F1 05 Bl 25 = FHHT
— Hdk 1 TH 24F1 15 Bl R = FHHT
— Hdk 1 TH 24F1 25 Bl R = FHHT
— Hdk 1 TH 24FE1 35 Bl 25 = FHHT
— Hdk 1 TH 24FE 1 45 FAE/ER R = FHHT
— Hdk 1 TH 24F1 55 FAE/ERR R = FHHT
— Hdk 1 TH 24%FE1 65 Bl 5 = FHHT
— Hdk 1 TH 24FE1 715 Bl s R = FHHT
— Hdk 1 TH 24FE2 05 FAE/ER R = FHHT
— Hdk 1 TH 24FE2 15 Bl s 5 = FHHT
— Hdk 1 TH 24FE2 25 Bl R = FHHT
— Hdk 1 TH 24FE2 45 Bl R = FHHT
— Hdk 1 TH 24FE2 65 Bl 5 = FHHT
— Hdk 1 TH 24FE2 T Bl s hE = FHHT
— Hdk 1 TH 24FE2 8% FAE/ERR hE = FHHT
— Hdk 1 TH 2473 0% Bl s 5 = FHHT
—Hiidk 1 TH 24%F3 25 FAE/ R AR = FHHT
—Hiidk 1 TH 2 4% 3 A5 FAE/ R AR = FHHT
—Hiidk 1 TH 25%3 %5 FAE/ R HEFR = FHHT
—Hiidk 1 TH 25%F4 S FAE/ R AR = FHHT
— Hdk 1 TH 25#FELF Bl s IR = FHHT
— Hdk 1 TH 25&FE6 = Bl s IR = FHHT




—HE 1 TH 2H&ET S AL/ 1K =251
—HE 1 TH 25%8 = AL/ 1K =251
—HE 1 TH 25%1 05 AL/ 1K £ T
—HE 1 TH 20%F1 25 AL/ 1K £ T
—HE 1 TH 20&EIL TS AL/ 1K £ T
—HE 1 TH 20%18% AL/ 1K £ T
—HE 1 TH 2TE2 S AL/ 1K =251
—HE 1 TH 2T7T#EI S AL/ 1K =251
—HE 1 TH 27#ES S AL/ 1K =251
—HE 1 TH 27%Eb S AL/ 1K =251
—HdE 1 TH 2TETS AL/ 1K & T
—HdE 1 TH 2 7T#E8 S AL/ 1K & T
—HdE 1 TH 2TELI1S AL/ 1K =251
—HdE 1 TH 2TEL 25 AL/ 1K =251
—HdE 1 TH 2T#EL19S AL/ 1K =251
—HdE 1 TH 2T7T#E205 AL/ 1K =251
—HdE 1 TH 2TE2 15 AL/ 1K =251
—HdE 1 TH 2T#E2 25 AL/ 1K =251
—HdE 1 TH 2T#E235 AL/ 1K =251
—HdE 1 TH 2TE245 AL/ 1K =251
—HE 1 TH 2T#E25%5 AL/ 1K =251
—HE 1 TH 2T#E265 AL/ 1K =251
—HE 1 TH 2T#E295 AL/ 1K =251
—HdE 1 TH 28%F 1= AL/ 1K & T
—HdE 1 TH 28%F2 5 AL/ 1K & T
—HdE 1 TH 28%F3I = AL/ 1K & T
—HdE 1 TH 28%Fb5H 5 AL/ 1% & T
—HdE 1 TH 28%6 5 AL/ 1% & T
—HdE 1 TH 2 8%8 = AL/ 1% & T
—HdE 1 TH 2 8% = AL/ 1K & T
—HdE 1 TH 28%F1 05 AL/ 1K =251
—HdE 1 TH 28% 135 AL/ 1K & T
—HdE 1 TH 28%F1 55 AL/ 1K =251
—HdE 1 TH 28FIL 15 AL/ 1K =251
—HdE 1 TH 28% 195 AL/ 1K =251
—HdE 1 TH 28%20%5 AL/ 1K & T
—HdE 1 TH 28%29%5 AL/ 1K & T
—HdE 1 TH 28%3I 05 AL/ 1K & T
—HE 1 TH 28#F3 25 AL/ 1% & T
—HE 1 TH 28#%3 35 AL/ 1% =251
—HE 1 TH 28#F3 45 AL/ 1K =251
—HE 1 TH 29%F 1= AL/ 1K & T
—HE 1 TH 29% 25 AL/ 1% & T
—HE 1 TH 29%3 = AL/ 1% & T
—HE 1 TH 29%6 5 AL/ 1K & T
—HE 1 TH 29%FT S AL/ 1K & T
—HdE 1 TH 29%F1 15 AL/ 1K =251
—HdE 1 TH 29%1 25 AL/ 1K =251




